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On planet Xsldkfjs, there are two primitive life forms, the Fleoifkjs and the Wowopfkjs. The Fleoifkjs
reproduce wildly, while the Wowopfkjs are essentially parasites on the Fleoifkjs, needing their bodies to
reproduce and then killing the host Fleoifkjs. If we let f; and wy be the number of Fleoifkjs and Wowopfkjs

at the end of year k, respectively. Then their populations are governed by the rule
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a) Show that in the long term, both populations are growing. Determine the growth rate and the eventual
ratio of Fleoifkjs to Wowopfkjs. (Note: You do not need a calculator to do this problem)

b) Ifthere are few Fleoifkjs and too many of the parasitic Wowopfkjs around initially, both populations will
perish. Find this critical ratio of Fleoifkjs to Wowopfkjs below which both populations are doomed to

oblivion.
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